I OEM ][] X7
Pneumatic Garage & Shop Stool

Assembly Instructions
PLEASE READ INSTRUCTIONS CAREFULLY

24914

Tools Needed:
¢ 1/2” [ 13mm Socket Wrench

* 916” [14mm Wrench (or)
Adjustable Wrench

e Phillips Head #2 Screwdriver

Parts List:

A. Leg Sleeve

B. Leg Connection
C. M8 Bolts (8)

D. M8 Nuts (8)

E. Legs (4)

F. Plastic Screws (4)

G. Foot Ring

H. M6 Bolts (4)

I. M6 Nuts (4)

J. Hydraulic Cylinder

K. Height Adjustment Lever

Bolt Kit Includes:

~\ (8 of Each)
© Dmm

M8 Bolts

(8 of Each)

(D)

cy

M8 Nuts

(4 of Each)
!

o ),

o (4 of Each)

(4 of Each)

M6 Bolts

[«

M6 Nuts

Plastic Screws G

Assemble on a level surface.

Step 1. Attach Leg Sleeve (A) to Leg Connection (B). Insert M8
Bolt (C) through the aligned holes. Fasten using M8 Nut (D).

Repeat with 3 remaining Leg Sleeves.

Do not tighten completely.

Step 2. Insert Leg (E) into Leg Sleeve (A). Fasten using
Plastic Screw (F). Repeat process with 3 remaining Legs.




Step 3. Attach Foot Ring (G) to the inside of Leg (E).
Insert M6 Bolt (H) through the aligned holes.

Fasten using M6 Nut (I). Repeat process,

attaching ring to inside of remaining Legs.

Do not tighten completely.

o ==

Step 5. Place Seat (K) over the Hydraulic Cylinder (J). 0

/
Raise the Height Adjustment Lever (L) and push
the seat to secure seat on the cylinder.

Step 6. (Not Shown as an lllustration)
Tighten all nuts equally at this time,
alternating sides in the process.






